restart;
T: = cos(n*arccos(x));
T = cos(n arccos(x))
ns :=1[1,2,3,4,10];
ns=1[1,2,3,4,10]
for k in ns do
Tn[ k] : =expand(subs(n=k, T));
od;
Tn;=x
Tn,=2x"—1
Tny —4x —3x

Tn4:=8x4—8x2+1

Tnyy:=512x"" — 1280 x° + 1120 x° — 400 x* + 50 x* —

plot([seq(Tn[k],k in ns)],x=-1..1, col or=[red, green, bl ue, cyan,

magent al ) ;
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> sinplify((1-x22)*di ff(T, x$2)-x*di ff (T, x)+n"2*T);
0

i @
> for k fromO to 4 do
seq(i nt (expand(subs(n=k, T)) *expand(subs(n=m T))*1/sqrt (1-
x"2),x=-1..1), me0..4);
od;
r,0,0,0,0
1
0, 5 ,0,0,0
0,0 1 m, 0,0
2 2 2 o b
0,0,0 1 m, 0
b b b 2 o
0,0,0,0, — x (5)
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